Multiplying Three Trinomials (A)
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Simplify each expression.

(2h° — 5h* + 4R®%)(—4h® — 8h* — 4h%)(—6R* 4 203 + 4R

(—60% + Tv + 6)(—3v* + v — 2)(3v* + 50° — v?)

- (5n? — Tn* + Tn)(—n® + 9n — 8)(—6n° + 2n* + 6n°)

@ =5 = 8T Af = 4)(2f =T - 357

- (—4w* + 6w + 7)(Tw® + 6w* + 9w?) (3w?® — 5w? + Tw)
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Multiplying Three Trinomials (A) Answers
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Simplify each expression.

(2h° — Bh + 4R3)(—4h° — 8hY — 4R3)(—6R1 4 2h3 + 41
— 480" — 40K" — 120h'2 + 120R' + 136K — 80KY — 644K°

- (=6v% + Tv + 6)(—3v* + 9v — 2)(3v" + 5v* — v?)
= 540% — 13507 — 22205 + 4800° + 107v?* — 1000° + 1202

- (5n® — Tn® + Tn)(—n? + 9n — 8)(—6n° +)2n4 + 6n°)
— 30n'0 — 322n" + 734n® — 622n" — 86n° + 602n° — 336n*

C(Af =5 =8 (=T Af —4)2f =T = 3f7)
= —56 /10 4298 — 233 % — 317f7 + 880 — 188> — 96 f*

- (—4w* + 6w + 7)(Tw® + 6w* + 9w?) (3w?® — 5w? + Tw)
— — 84w + 194w” — 139w® + 169w™ + 52w’ + 35Tw® + 441w*
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